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Name: Date:

UniT #1 —REVIEW SHEET. YES!

Part I Questions:

1. Which of the following is the value of the expression 2x” +1 whenx =—2? P
F

(1) -7 (3) -15 2(‘2)2"',

@) 17 (4)9 ’Z_(LD"" MD
O Yt+i=9 &S

2. Which equation below illustrates the associative property of addition?

/(1) (2+8)+(1+9)=(8+2)+(9+1)  (3) 5+2(3+4)=5+6+8

2) 5(2+7)=10+35 3+T)+2=3+(7+2
(2) 5(2+7)=10+ @(/+)+/ |/+(,/+
CA 3. Which expression below is equivalent to 10x—357? D TSTRIGBWUTIV E
ncel PROPERTY

ot (1) 5(2x-7) (3)10(x-5) = 10% - SO

wrongy
Q’\S&Jefs(z) x(10-35) (4) 10(x-35) = lOY "3S 0

= J0X =35 X
4. The product of the binomial (3x+ 2) with the binomial (2x—

m +
(1) 5x+1 1(3) 6x° +x-2 SX
(2) 6x-3 1) 6x* -2 6 X

5. Written in simplest exponential form the product (ﬁ—hg) is?

Vi _CX =-06X
2 X X XXX XY- XXX
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6. What is the first step in simplifying the expression (2 -3 x4+ 5)*
1) square 5

2) add 4 and 35

3) subtract 3 from 2

QLM TO7> N
(14612 &

X N\
7. Which of the following is equivalent to (x +5)"? 3 6 ( x 1' C. i
S— 4

@(3+10x+25 (3) 2x+25 X + 6)()(1‘5)
(x+255

P (2) x* +25 (4) 2x+10

E \/ 8. If the expression 3 - 424 g is evaluated. what would be done last?
/V.-\’laS 1) subtracting 4
P}% 2) squaring 3 - ’ é T 'i'

) adding

1) dividing 3 - é ¥
I

9. Which number is rational?

) \, .|
CD ek
4 -{’l O'r\ ’
3) 7 ‘F ( ~C
4) J?
7)
10. Which is an irrational number?

1) 0 00 he X hes
205 T

7 & 5)<\+-/€)( +15
lelOMzS

» 1 |5 mi { mi
3
4) = / = ODD -
=3 15X = 3727 x 200

11. It takes a snail 500 hours to travel 15 miles. At this rate, how many hours will it take?he snail to travel &

1) 0.18 X hes 5‘00 hes —_— I6 M:‘CS

3)_ 150 OV R, rs é Y
@200 %{N l M '7 l/\ >
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Free Response Questions:

12. What is the value of the expression -3x’y + 4x when x = -4 and y=27

=34 (2) 4 (~Y)

- 3(16)2) + (-6)
~3(32)- b = -96-[6 =|-NZ {
13. Multiply and write an expression that is equivalent to (2x+5)(3x-2).

(2x+5)(%-2)
v LLrE TERMS
bx O@"O
r+ix-10/

14, Write the following expression in simplest form.

C _ (g)

15. Consider the binomial expression 3x+1.

(a) What property is illustrated in the identity (b) What property is illustrated in the identity
shown below? shown below?
2(3x+1)=6x+2 6x+(2+3)=(6x+2)+3



